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1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, efc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions oftwo marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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Answer all questions. Each question carries 1 mark. (1x40=40)

DR, BIRVT LU0k B3 BT 2080 L308NED.

1. Which of the following is not a primary pollutant ?

a) SO, - b) Volcanic ash

c) Og d) CO,

81 BINTYNTY | 3RO R, FRTION TORT [RITZE 50£0EONE) ?

a) SO, b) 2%9,e0e0800% el
c) O d) CO,

2. The earth originated

a) 4.6 billion yrs. b) 8.5 billion yrs.

c) 2.6 billion yrs. d) 1.3 billion yrs.

A TCIAVIovoY) u@@a@cﬁ%

a) 4.6 WOO* TIRF NS &0 b) 8.5 WA SR &%
C) 2.6 VOO DRF N 80T - d) 1.3 OB TRFNS &0

3. The first formed photosynthetic organisms were

a) Algae b) Cyanobacteria
c) Bryophytes d) Plants
B8R 0B R 303000008 B BATO 236

a) 8¢ b) FSeeea93e003m
C) WOdREFEF d) RZrsd
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4. The scientifically suggested reason for the extinction of dinosaurs is
a) volcanic eruptions

b) massive storm

c) massive asteroid hit

d) massive flood

BRREROTY 93387 QeBeNTI BERVT TN
a) 2),LPT/NHOD BRTBRBRE

b) 2303080 2o

C) PoD0TCTT 55T LRRRO IO

d) GobosomEHmE

5. Soap does not work well with

a) hard water b) light water

c) heavy water d) soft water
RRe) 83 FSNT CINJ)BBRES RIITON T BFOROL 2
a) N@RO e b) @rodzon Jedd
C) 20T VT d) o Jedd

6. Landsat program began in

a) 1972 b) 2003
c) 1982 d) 1992
OO AR E5° P70 T VORI,

a) 1972 b) 2003
c) 1982 d) 1992
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7. Tojoin the internet, the computer has to be connected to a
a) internet architecture board
b) internet society
c) internet service provider

d) none of the mentioned

£2030° 200 a’om’rﬁﬁ RODTF BROTED ﬁsa#odoogda’% 238N m@d@
BReRRIFNIZT ? '

a) QoD S L3 EITO® WReTE
b) RoLIT N BRRE

C) BOLT S AIF AT FRFTEO®
d) 83 BoeDS IR0 B

8. Internet works on
a) Packet switching
b) Circuit switching
c) Both a) and b)
d) None of the mentioned
€9030° 2300 ROWBE ) TOOF A &R0
a) B’ ;30
b) RBRFEF & 230
c) a) &) b) @R
d) 33 BoeOT CBRJYTe B,
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9. Drugis
a) produced by endocrine glands
b) produced by exocrine glands
c) are secreted through pituitary gland =

10.

d) externally administered chemical substances
BG® |

a) oA B NOPOOT LUTTICIRNIZT

b) %8R 8 & §0RON0E BVBITIoIRRITS

C) &3)E30 ROPOAOT BT RPANSTI

d) WBEY BI03RT BRINY FeIo00s

Lakes and forests are best classified as examples of

a) artificial ecosystem

_bi/natural ecosystem

c) natural biosphere

d) artificial biosphere

31 89N U3 BNF e80E0E, ASRET Ty TR FeTBe3
a) B3 TWORT BBK

b) SRNFE TORT FR

c) FANFE WemzwoD

d) 328 BesooDd
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11. Copernicus is well known for his contribution in the field of
a) Biology b) Physics
c) Mathematics d) Social Science
BRIV BR* B3 3BT DR ZRROTC0TON BATTONCTS.
a) zseaiaa% b) zp’aéaaﬁa
c) neds d) R DR
12. The discovery of ‘Cape of Good Hope’ goeé to
a) Columbus . b) Vespucci
' c¢) Vagellan d) Bartolomeu Dias
| $e gt RO BREET 2003 e 8
| a) 3POOWR® | ~ b) SR
"  c) SN d) e r ey BodR
13. Nanoparticles of which substance were found on the surface of the sword of
Tipu Sultan ?
a) Gold b) Lead
c) Carbon d) Silicon
85, ROTRIT 0BT TN, FordITII WR0e8E0 O30T BRYDVOTINGS ?
a) w83 b) aex
C) QOO d) A%
14. The size of nanoparticles is between nm.
a) 100to 1000 b) 0.1t0 10
c) 1t0 100 d)"0.01to 1
TR ReBENT T nm NG,
a) 100 501000 b) 0.1 90w 10
3 c) 100100 d) 0.01 dow1
SPACE FOR ROUGH WORK
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15. Main branch of mathematics is

16. The only metal in liquid state is

V8

a) Algebra b) Geometry
c) Statistics _d) Abacus
RessR Soa) 7o

a) BOR®, b) 230083
c) ﬁoaa%mﬁa d) exmss®

a) iron b) mercury
c) calcium /.d) magnesium
B CRTEOTIE 2.083¢ 2070 SREB[TT

a) 3 b) owos

c) oo d) &Qe&@so

Stainless steel is so called because of its
a) High strength

b) High corrosion resistance

¢) High ductility

d) Brittleness _
R OR 2 50, 83 50T N, B3 BRO0T FECHLRNIBT,
a) 3TN

b) 258 GRo0NFIY, FrktRT0EI BTN
C) S0303RN BRTETINOI roEEN

d) Rowdeon PRPNID rbsaa'%ﬂ

SPACE FOR ROUGH WORK
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18. Layer of atmosphere in which Ozone layer lies is

a) Exosphere b) Mesosphere
c) Troposphere d)-Stratosphere
2:233R0" BETY) WRWIOID TVTIRTEID B3 BEORAT
a) BREACIT® b) QoRReRCIT®
c) nrepernnddo’ d) R, tineactoc®
19. One of the best solutions to get rid of non biodegradable wastes is
a) Burying b) Burning
_ c¢) Recycling d) Dumping
| 2 8N BRTOT TYEOOT BOIBROTED Q0D YU BINE
a) TRFODT b) RN
| C) VIoT W d) DOFFZON0E WRBIXVE
| 20. Which state irrigates largest percentage of land ?
| a) Haryana by Uttar Pradesh
| c) Maharashtra d) Punjab
| B3 LR, VETHTOT LITBATIE T
| a) OOIE b) ev3x e
| C) ST, d) owow®
21. Compound microscope has lens/lenses.
a) 1 b) 2
¢) 3 d) 4
TOTOOT® RBREARET ______ BORRT/BORATNTR), TBeodT.
a) 1 b) 2
c) 3 d) 4

SPACE FOR ROUGH WORK
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22,

23.

24,

25,

..
R T e s
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The resolving power of unaided human eye is /
a) 100 pm _b) 1000 pm
c) 10 um d) 1um

- BRNE), Pgemon rOTIEROTE ST L0Neds 33
a) 100 om b) 1000 um
c) 10um d 1um
Photograph which is taken from microscope is known as
a) macrograph b) monograph
c) micrograph d) pictograph
AT, B80T 31T q:aomz,sgddi 33 068 BN
a) SRBER T b) Secdperop®
c) BFRemF d) &BRemF*

Process in which two light nuclei combine to form a heavy nucleus is called
a) fusion reaction b) fission reaction
c) radioactivity d) transmutation

QTR #e% RORIENED F003R SRR 2,083 LT addabamddg{ NUTDORT
= ;
T g0

a) Roodrews o b) QWY o
C) FORIED D3TeD d) TTRED RNTFRBINE
Genetic improvements in which two crops form the basis of the Green

Revolution

a) Corn andrice b) Wheat and corn

¢) Wheat and rice d) Wheat and sorghum
ROGRTRRAOE 03E TR BN BT 52,0800 SFBHOINAT ?

a) 308 e I e b) Rred =R 308 eined
C) Reed I g d) ﬁme@ 03 ey

SPACE FOR ROUGH WORK
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26. Hard water contains the salts of

2.

28.

a) Aluminium b) Carbon
c) Calcium d) Iron
NER VETO WPRRORTII VTN

a) LeOROEICI0 b) @om®
c) 5,900 ' - d) 3

INTELSAT IV telecommunication satellite has a capacity of handling

a) 1TV channel

b) 2TV channels

c) 3TVchannels

d) 4 TV channels

INTELSAT IV 50 0s8F evan@) 8 $8NS ot mesay e S DR smed 35mancs ?
a) 1TV 3o*

b) 2 TV w3ernsd

c) 3TV IR

d) 4 TV w3 nsd

Headquarters of ISRO is situated

a) Chandipur ~ b) Chandigarh
c) Bengaluru : SR d) Chennai
ISROT eots, 3e3ed TR0

a) BoReYo* : ' b) WoRenc*
c) oneedd d) 23,

SPACE FOR ROUGH WORK
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29.

30.

Satish Dhawan space centre is situated in

_a) Bengaluru b) Ahamedabad
c) Chennai d) Sriharikota
R&eD* FBS* AT BOL0* BTOPT
a) Wongedd b) esz=omoren®
c) &3, d) dexodnees

Remote sensing includes gathering of
a) Images
b) Changes

9) Movements
| d) Sounds

DB ReEs® AYONT® B3 BHNITR ROM&RIBT
a) w3

b) w@enmBned

c) Bosnsd

d) Berish

31. Which is the base of scientific development ?
. a) Physics b) Chemistry

' c) Engineering d) Mathematics

FEPE WIBerint Zono cIR 9
a) PR3z, b) TRRCIRTOR,
C) OOIDONE d) neds

SPACE FOR ROUGH WORK
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32. Principle of laser is

a) Spontaneous absorption b) Simulated emission
. c) Induced emission d) Both b) and c)
|i Sex0'S B2,
; a) AVNFS &eTONT b) envdezls DR

c) Sedea DRRES d) b) @533 ¢) B

| 33. Laser is the short form of

a) light absorption stimulated emission of radiation

b) light amplication by stimulated emission of radiation
: c) light amplication stimulated emission of rays
1 d) light adsorption stimulated rays
1 Serlo® SR> B33 Koty B3

| a) SeR0° LLRTF DT AFNSEITET ORI P BeRodeRS
". | b) ¢ eoR,8era" ) AR SedE PRVT B® BeRODR
,| C) 5 5,00, 8eR® AP SEIE WA’ ST Tex®
d) & wmmFI RiE0USetsE” S’

34. OFC stands for

L a) Optical Fibre Cables b) Optic Forced Cables
: c) Optical Forged Cables d) Optical Fibre Can

f DT A DOTT

a) BRFS* PUO® e b) ©&F* Fpeo'r* Feewes,
‘ ' c) e:sagef PR F TS’ d) S5 FO® B

SPACE FOR ROUGH WORK
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35. The most energy efficient and environment safe source of light is
a) CFL b) LCD
¢y LED d) LPG

53,03 TORORTD R BORG RITFSOIRY B00T B Boew
a) AP I b) QA&

C) QO3B d) Qe

36. The nearly perfect source of energy is
_b) natural gas

a) coal
c) petrol d) tar
93,08 HOFIROTOIRT JOD WL
a) 89P0 b) SANFT QO
c) Jdnee” d) &0°
37. DNA is not a genetic material in
a) Human b) Virus
c) Plant d) Animal
BT DOUOTO B3 FSNS CINFTOE), 39 ZTON, B,
a) WORVOH, b) o=
c) A% d) o
38. DNA stands for :
a) Disaccharide Nucleic Acid b) Diphenyl Nucleic Acid
c) Diribose Nuclear Acid d) Deoxyribose Nucleic Acid
B2 (DNA) 003
a) Disachharide Nucleic Acid ' b) Diphenyl Nucleic Acid
c) Diribose Nuclear Acid d) Deoxyribose Nucleic Acid

SPACE FOR ROUGH WORK
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39. The objectives of experiments include
a) testing hypothesis
b) for supporting and negating theory
c) for gathering about natural phenomenon
d) all the above
Todeenng LB
a) 303 ATOBH) TOLFRIYTONT
b) %ot 383 worwesn B QRPOIVZITE),N
¢) FRNFE DTTPTTE FoNTE),N
d) 85 BedT e,

40. The detailed report of the whole work prepared in a standard format is called
a) research
b) presentation
c) thesis
d) scientific paper
20T BRI, De30, ATHBREDT peor SRE DIR[0 o
a) R3PS

c) T[wog
d) eI TSE

SPACE FOR ROUGH WORK
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All questions are compulsory. (2x15=30)
R, BIN 00,

41. Match the correct pair.

42.

C) ABRO) B LN 003, d) BoedT o3RS WY,

A) Indian nuclear programme 1. M. S. Swaminathan-
B) Green revolution ' 2. Vasant Gowarikar
C) Indian monsoon model 3. HomiJ Bhabha
D) White revolution 4. Kurien Varghese
a) A-2, B-3, C-4, D-1 b) A-4,B-2,C-1,D-3
c) A-1,B-3,C-4,D-2 d) A-3,B-1,C-2,D-4
ROCIRT RERODR) MOSF A
A) 23008603 T[T 030 1. Q0. R, W) LTS
B) ®059,08 2. RROS® NPDEIT
C) 208803 WWaoorodd RO 3. TR 23. WO
D) 3,8 5,08 4. 3OO INeFA°
a) A-2, B-3, C-4, D-1 b) A-4,B-2,C-1,D-3
c) A-1,B-3,C-4,D-2 d) A-3,B-1,C-2,D-4
and are two major discoveries of 151 century which
led to expansion of white colonies outside Europe.
a) Mariners compass and telescope b) Spinning machine and telescope
c) Gun powder and steam engine d) None of the above
15 Je BZTRIT TR T0ed &S CREBNPT 03 O30TeT

TRTM WO BHBIINS LTSI TOTEITIOD.
a) MBS BB FoB) BRTBIEE 03003 b) SRewE 0308 02 BRTESFT 0103

SPACE FOR ROUGH WORK
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43. Match the correct pair.

Diseases Causes
A) Typhoid /;’ Pneumococcus
B) Tuberculosis 2. HIV
C) AIDS _~8. Mycobacterium
D) Pneumonia 4. Salmonella typhi
a) A-4, B-3, C-2, D-1
b) A-3, B-2, C-4, D-1
c) A-2,B-4,C-1,D-3
d) A-1,B-3,C-4,D-2

RO03RT HRERODI) THSF 4.
FooSnsd Fodeansd
A) R d63 &0 1. IBeednesze
B) 8o deen 2. QWD
C) owr 3. SBeerRdeoodo
D) 28033 evdodnd 4. ORRIR, Yo
a) A-4, B-3, C-2, D-1
b) A-3, B-2, C-4, D-1
c) A-2,B-4,C-1,D-3
d) A-1,B-3,C-4,D-2
44. Photovoltaic energy is the conversion of sunlight into

a) chemical energy b) biogas
¢) electricity d) geothermal energy
RARODFS BB TP eEREFPERONT B3N aimadrda@a’% 33 39NT0S Bedoorzs
a) CRoO3RE 33 b) D8 eReE 38
C) s, d) Bodpersrer 38

SPACE FOR ROUGH WORK
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45. The outermost layer of the earth is
a) Magma b) Mantle
c¢) Crust d) Solid iron core
n0an 53,08 ZeONS soeoRt
a) SR b) =woe*
c) 3x°, d) O 2o deec®
46. LED stands for
a) Laser Emitting Diode by Light Emitting Diode
c) Light Emitting Device d) Laser Emitting Device
LED &033
a) Laser Emitting Diode b) Light Emitting Diode
c) Light Emitting Device | d) Laser Emitting Device
47. Pradhan Mantri Awaas Yojana of Government of India, is meant for

b) house for individual

a) child development

c) skill development
d) none of the above :
0 AFF O TR0 Hema’ 0306280320 33 39N m@dﬁ Qo3ReEIOINNAG ?
a) gy @@ﬁvt‘%

b) Téadee) monosANe B0
C) 598e) eﬁzp%c‘%

d) 33 R0edS cIRPTe ey

SPACE FOR ROUGH WORK
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48. Which of the following States in India ranks first in the installation of wind power ?

a) Guijarat

b) Andhra Pradesh

c) Maharashtra

d)  Tamil Nadu

WS BFOD e&m@&’ﬁ RRRITE), 0 B3 FINT IO Tt ) BRTOZODTINGS 7
a) MOxRoIT

b) sopxde3

c) d:moaas’é

49.

d) SR0sbTowd

The observed increase in the average temperature of the air near earths surface
and oceans in recent decades

a) environment change
b) global warming
c) healthchange

d) none of these

B8R TBERTS. HRN0DH Fo%) BT O T TTRRIE KO B
FOOED

a) TORT WHCHRH

b) 25on8E SoTRRT B

C) TR, WRHRIH

d) 38 BoedT NPT ¥,

SPACE FOR ROUGH WORK
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50. Lig/n'te, bituminous, anthracite is the variety of

-a) natural gas “ wind
.9/2?0[ d{ooal

O £3°, LEDROTAT, SOTORET 0L AT QRO SR

a) %h"’h?ﬁ (819 b) ™o
c) Jedee® d) 39zen
51. BTU is measurement of
a) Volume b) Temperature
c) Area d) Pressure
BTU 2022023 538 299303 Snaamond
a) Mg b) eveRo3
C) QYeeoF | d) w33

- 52. Non conventional energy sources are
fa)*‘biomass, solar, wind
b) nuclear, coal, petrol
c) thermal, nuclear, diesel
"d) allthe above
IROTTIDONE B0 TN
a) B ZF 008, RROHF, MY
b) o=oew, 3T, Bedner
c) cmaga, DORNED, BeZ*
d) B¢ &)

SPACE FOR ROUGH WORK
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53.

54,

Name the MOEFCC campaign for land use science or Forest Plus.

a) Good Wood b) Wood Good

¢) Wood is Good d) Good Earth

MOEFCC 5009,23050320 5239 208 0 WIE S0 RS ﬁzg’d@ﬁaﬁﬁ WHRROT TR0
a) @ PY© b) Jw* now®

C) R 317 NOE® d) moE® en'F

Union Environment ministry approved projects for climate change in which
States ?

a) Rajasthan b) Guijarat
c) Manipur d) Botha) and b)

WORO LERWE FITHOODY) BIBRS WEITEBOD Sren3030R), 88 S9N oI0es
TO%EN EIROBPCDATS ?

a) TR b) nowoez*

c) B33 d) a) 3% b) a0RR

55. The process of introduction of weakened pathogen into a human body is called

a) vaccination

b) immunization

c) attenuation

d) none of the above

TORF© BeEmE0NFR) BT 3e8, B0 T,0308) 83 Ded BRI,
a) W IZeRS*

b) a=RFAew*

C) w00

d) S0ed cInRTe e9e).

SPACE FOR ROUGH WORK




